Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.
- Module-1 ’ )
1 a. Explainthe clasmﬁcatlomof signals. WV ",> (06 Marks)
b. Find the even and odd' ‘mponents of the s1gnal x(t) = (1 {*\t%}; os>(101). (04 Marks)
c. Sketch the signal y(t) ={x(l {(t).is’shown in Fig.Q1(c). (06 Marks)

Fig.Q1(c)

2 a F md the overall operator the system y(n‘ ™ 3[X( n+1)+x(n) +x(n- -D]. (04 Marks)
b. D1 (07 Marks)
Fig. Q2(b) |
¢. Determine whether t}j\ewsystem y(t) = x(%) is, i) Linear ii).‘Time-invariant iii) Memory
iv) Causal v) Stable~ (05 Marks)
Module 2
3 a
a> 0. Find the output y(t) of the system.
b. ‘ fep response for the LTI system represented by the
uén) - (04 Marks)
s ;»contlnuous time LTI system is represented by the impulse response h( ) qfftu(t— 1).
Deterrmne Whether it is (i) Stable 11) Causal. ’ ‘(i{4 Marks)
) OR ’ \
4 olve the differential equation : ey

7O L 39O 5o axywith y©) =- 13 XO|  ~1and x(t) = cost u(®). (08 Marks)
dt? dt dt [t=0
b. Draw the direct form I and II implementation for the difference equation :
y(n)+ %Y(n -1)—y (n—=3)=2x(n-1) +7x(n -2). (08 Marks)
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Module-3

: F\‘\d the Fourier transform of x(t) = Z oK f(t —KT); o < 1. (08 Marks)

k=0

jo

— - (04 Marks)
(2+ jo)

F\mdth inverse Fourier transform of k(jo) =

?\ \ O 'X\

The 1mpLJse response of a continuous time LTI system is given by ¢ i‘ g RCu(t).

> RC
hoy response and draw its spectrum. (06 Marks)

OR
y/ response and impulse response--
y(t) =eu(t) + eut), for the input x(t) = ¢” "u(t). 3
Find the ﬁequency,résponse and the impulse respons

" the system having
- (08 Marks)
of the system described by

(08 Marks)

(06 Marks)
(05 Marks)

(05 Marks)

= %(%)1 u(n) + (%)n u(n) for the
e (08 Marks)
equency response :

(08 Marks)

(06 Marks)
(04 Marks)

(06 Marks)

A sy em has impulse response h(n)= (%j u(n) . Determine the input to the :sysfém if the

‘ wutput is given by, y(n)= (%) u(n) + i(——j u(n). (‘()A!’;‘"Mﬁ"x\v‘}gs)
‘ “'Swalve the following difference equation using z-transform,

y(n)— %y(n -+ %y(n —2)=x(n)for n > 0,with y(-1)=4, y(-2)=10 and

x(n) = Gj u(n) (08 Marks)

***20f2***




